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Floma BTV Merm | B2 | ame | oo e | B | e [T e | B2 [T | B | M
; 100kN/mZ#8% % - ~ -|3mEEZS - - -| 100kN/ Mm% 2% - ~ -|3mEHERS -~ -
Zhst 1.00)| 000 ~ 473 58.90 | Ehst | 0.00 0.00 | 1.65 884 Zhst 1.00 | 500 ~ 500 5890 | #nLlst | 500 ~ 5.00)| 1.65 884
2 100kN/m#%#BZ5| 1.00 | 000 ~ 067 110.00 |3mERBZS -| 100kN/m# 25 | 1.00 | 11.14 ~ 1347| 110.00 |3mEEZD ~
FhnLs 100|067 ~ 846 100.00 | =nLlst | 0.00 846 | 2.03 10.88 Fhns 100|500 ~ 1114 100.00 | =hst | 5.00 ~ 1347|2.03 10.88
3 100kN/m#%#BZ5| 1.00 | 000 ~ 125| 11891 |3ImERBZS -| 100kN/m# 2% | 1.00 | 11.25 ~ 1641 118.91 |3mZFiBZS ~
FhnLs 100|125 ~ 904 100.00| #nLlst | 0.00 9.04 | 2.20 11.76 Fhns 100|500 ~ 1125 100.00 | #nst | 5.00 ~ 1641|220 11.76
4 100kN/M%#BZ25 | 1.00| 000 ~ 0341| 104.99 |3m%E#BZD -| 100kN/m# 25 | 1.00 | 11.15 ~ 1224 | 104.99 |3mEEZD ~
FhLs 100034 ~ 812| 100.00 | Fhidst | 0.00 812|203 10.87 Fhns 100|500 ~ 1115 100.00 | #nhst | 5.00 ~ 122¢4| 2.03 10.87
5 100kN/m%#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~ -
Zhst 1.00) 000 ~ 537 67.00 | Enilst | 0.00 0.00| 1.64 875 Zhst 100|500 ~ 599 67.00 | Tnist | 500 ~ 599 )| 1.64 875
P 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 0.00 ~ 459 57.22 | #hst | 0.00 0.00 | 1.59 849 Zhilst 1.00 | 500 ~ 5.00 5722 | #nLlst | 500 ~ 5.00) 1.59 849
100kN/mZ#8% % ~ ImEEZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#82 % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#82 % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEEZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Zhn st Zh s ~ Zhn st ~
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